gralall a8 ) bl and
math 202.
Calculus 2.
First Exam

Date: Saturday 21 /4 /1432 H.
Time: from 21:00 to 22:30.
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QL.
22:1(3 - kz) =

(A) (B) (®) (D)
—75 —73 —190 —109

Q2.
The definite integral which expressed the limit: limpj_o Yreq(ch — 5S¢ )Axy
where P is a partition of [1,4], is

(A) (B) ©) (D)
ff(Sx4 — 5)dx f14(c5 — 5¢)dx f14(x5 — 5x)dx f41(x5 — 5x)dx

Q3.

If £ is integrable and f03 f(z)dz =3 and f04f(z)dz =7, then f:f(z)dz =
(A) (B) €) (D)

4 10 —4 21
Q4.

If g(x) < - for all x €[2,14], then
(A) (B) ©) (D)

5< f214g(x)dx f214g(x)dx <12 9 < fZMg(x)dx f214g(x)dx <4

Q5.

If y= flxzcost dt , then %=
(A) (B) (€) (D)

2x cos x? —2x cos x? —2x sin x? 2x sin x?
Q6.

f_3£ x10_|)_6:;6+2dx =
(A) (B) (®) (D)

0 m 17m 7w

3 3 3

Q7.

The area of the region between the x-axis and the graph of f(x) = 3x2? — 3x
from x=0to x=21is

(A) (B) ©) (D)
12 13 2 3
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Q8.

The area of the region between the x-axis and the graph of f(x) = 3x% — 3x
from x=0tox=21is

(A) (B) (€) (D)
12 13 2 3
Qo.
B+vR)
[ N dx =
(A) (B) (€) (D)
(Vo' (3+V%)° (VE+vD)" (V3+%)"
V3x++5+C - tC — +C = *C
Q10.
The area of the region between the curves of
f(x) =2 and g(x) =x%—2is
.
: {
; X
(A) (B) ©) (D)
20 32 7 7
3 3 5 3
s 2 e Jpaallagle cuad o cang 510 i JIgedl 1SS 58 11 a8, J) e
Q11.
The area of the region between the curves of f(x) =2 and g(x) = x%—2is
(A) (B) (©) (D)
20 32

7
5

7
3




Q12.

The volume of the solid generated by revolving the region bounded by the
lines y =0, x =2, andthe curve y = x2 about the x-axis is

J
4

1
1
(A) (B) ©) (D)
32m 31m 291 28w
5 5 5 5
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Q13.

The volume of the solid generated by revolving the region bounded by the
lines y =0, x =2, andthe curve y = x? about the x-axis is

(A) 321

5

(B)

311

5

(©)

291

5

Q14.

The volume of the solid generated by revolving the region bounded by the
curves y =2 —x2,y =x?, and the line x = 0, about the y-axis is

Hint: Use the shell method

(A)
4r

(B)

3

(©)
21
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Q15.

The volume of the solid generated by revolving the region bounded by the
curves y =2 —x2,y =x2, and the line x = 0, about the y-axis is

(A)
41

(B)

3

(€)
21

(D)

T




Q16.

The total area of the region bounded by
the curves x = y? and x = y° is

=y (1,1
X = y2
0 1 *
(A) (B) ©) (D)
7 8 10
33 33 33 33
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Q17.
The total area of the region bounded by the curves x = y? and x = y1° is
(A) (B) (©) (D)
7 8 10
33 33 33 33
Q18.
If f is aneven continuous function and f_33f(x)dx = 6, then f03 3f(x)dx =
(A) (B) (©) (D)
9 20 8 12
Q109.
If ' is continuous on [1,2], then flzf'(t)dt =
(A) (B) ©) (D)
fQ) - f(2) f'(2) f@2)-f ')
Q20.
The definite integral [’ f(x)dx exists if f is
(A) (B) ©) (D)
boundedon [1,5] oddon[1,5] evenon|[1,5] continuouson[1,5]




